This question paper contains 10 printed pages]
CZ—208—2019
FACULTY OF COMMERCE
B.Com. (Second Year) (Third Semester) EXAMINATION

MARCH/APRIL, 2019
(CBCS Pattern)

COST ACCOUNTING—I
(MCQ & Theory)

(Tuesday, 26-3-2019) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—40
N.B. .— (@) Solve Q. No. 1 on OMR sheet during the first half an hour.

(ii1) Q. No. 1 is compulsory.
(iit)  All questions carry equal marks.

(tv) Use of simple calculator is allowed.

() 997 ®H% 1 3 OMR sheet 9= Hiea@=l AR, AEGST Ufgen 1ef d&
3 3.

(1) U HHE 1 AHE™ oTR.
(i) |E YA GHE IO 3T
(o) Y RIS FRTAE WA L.

MCQ
1. Multiple Choice Questions : 10
Tsvl'@'ﬁﬁﬁ R
@) Yearly working hours of a machine are 2,000 hours. Total standing

charges of machine for one year are Rs. 10,000 and variable charges
per hour is Rs. 3.00. Then machine hour rate is :

(@ Rs. 8.00 (b) Rs. 5.00
(c) Rs. 9.00 (d) Rs. 11.00

P.T.O.
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(i)

(tii)

(iv)
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T I Al S A 2,000 TE 3ed. THRU R @ Tl auidre!
10,000 %. 2T M1 Yol a9 ogaral ©d 3.00 T. & T I aF
...................... 6 3:“%-

(@  8.00 (b)  5.00
(c) 9.00 (d) 11.00

Rent and rate is apportioned on the basis of .............................. .

(@) No. of Machines (b)  Area occupied

(c) No. of Workers (d)  Time devoted

o 1 e e ST | roc SRR MU .

(@ I "E (b) A HTRD

(€) IR HeAl (d)  feeten de

Single or output costing method is not used in ........cccccceeeeeeeees .
(@)  Cotton Industry (b)  Cement Industry

(c) Transport Industry (d)  Bricks Industry

el FRAl SeUlEd UREHT gl oo ST ATIE S AT
(@  wHOS I )  faHe T

() ~ TBIH STA d) fae zs=m

For calculating cost of production ............cccccceeeeeeees is prepared.
(@)  Balance sheet (b)  Reconciliation statement
(c) Cash flow statement (d)  Cost sheet

ST URETT UM RIUARGEY oo IR FLETE.

(@) <] ®) THesaol TR

() UG Ya§ ToAh (d) U= 9
................................ is a first element of cost.

(@)  Material (b)  Labour

(c) Office exp. (d)  Selling exp.
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(@)  armEf ®) =
(€  FrEeE =™ (d)  fasnt =19
(vi)  In FIFO method closing stock is valued at .......................... .
(a) Selling price (b)  Cost price
(c) Current price (d)  None of these
Yo ST YW T Uoda WRUM Tedih ;| FME.
(@  fommt foma (b)  ufem frd
(¢) =g fepma (d) It AR
(vit) In Halsey plan bonus is calculated as per .........c..ccceeeeveieenn. formula.

(@) Hours saved x Rate per hour

(b) 3 X Hours saved x Rate per hour
1
(e) 5. X Hours saved x Rate per hour
1
(d) 1x Hours saved x Rate per hour
6]'('{"' SINE ®|\|"|H ................................. {:17“1{"”{ T h{drd.

(@) arafaad ™ x Fdiard g1

) %xm%rl%@ﬁamxu'cﬁamﬂ
© %xmaﬁaamaxuaﬁwa
d) ixaﬁﬁm@rmxuﬁwa

P.T.O.
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(viit) Feature of Taylor’s differential piece rate system ............c..ccccovievininnns .

(@) Day wages are not guaranteed

(b) A standard time for job is established

(c) Two pieces rate are fixed

(d)  All of the above

W fq:l"_"[ °|7|<'TQ{ ‘-IoS\d'\la aﬁ-l-@ .................................. .

(@ <& gd=t @t @

(b) FEERE YEY 9@ SEA e Sl

¢ TH Hre Fe=ia se S

(d) =t wd

(ix)  Which is the function of cost accounting ?

(a) Cost and price determination
(b)  Cost control

(c) Policy making

(d)  All of the above

(] ¥ hd ¥ § LN
T d@hArd i hivd 7

(@ 9R=E 9 g fHuRy

() Ui fEe
(¢ it faRo
(@) Fadw wd

O 5 AV oS M OSSN 4 is a second element of cost.
(@)  Material (b)  Office exp.
(e) Selling exp. (d) Labour
.............................. T TR e W ST
(@ Sl b) wEEE ==
() famt =:1 (d) A ()
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Theory
2. From the following information find out :
(@) Cost of material consumed

b) Total cost of production
Stock of raw materials (1-1-2018)
Purchase of raw materials
Productive wages
Stock of raw materials (31-12-2018)
Work on cost
Office on cost

Sales

CZ—208—2019

10

Rs.
3,000
75,000
60,000
3,200
12,000
14,680
2,01,850

The company has to give the tender for the machine. The estimates of costing

department shows that the material required would cost Rs. 3,000 and the

wages would cost Rs. 3,750. Works on cost and office on cost would bear the

same percentage, which the work on cost bears to the productive wages and

office on cost to the work cost as in the year 2018.

The tender is to be made at a net profit of 20% on selling price.

Qeiiel Aifgdiaed H9=ia &4 :
(@) ST SAeedl FiEl 9Rker
(b)  THU IARA IR

et @R (1-1-2018)

oAl W TRt

Scaresh Hed

TR @Ry (31-12-2018)

i Sufe=
FTTT YN
CED
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3,000
75,000
60,000
3,200
12,000
14,680
2,01,850
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WT

( 6 ) CZ—208—2019

HUATC ThT AT IATEATEIS! TRt WIeX FHyear=h 7. IRea faumm=n sTgaHgaR
it 3,000 ¥ F STURSH AT 3,750 T W AN AU SuferEme St hreter
SURETA IcUeeh YAIh Teiel @ e SUReAr o qRezemett gfaerd g\
2018 JHE TE.

fom! g 20% T® Bea own fin fafasr T@r .

Or

(fenam)
Calculate the machine hour-rate from the following information :
1) Purchase price of the saw mill Rs. 95,000.
(2) Installation charges of the saw mill Rs. 15,000.
3) Scrap value of the saw mill is Rs. 10,000.
4) Life of the saw mill is 5 years.
5) Working hours per year 2,000 hours.
(6) Repair charges 50% of depreciation.
(7) Consumption of power 10 units per hour @ 10 paise per unit.
(8) Lubricating oil @ Rs. 4 per day of 8 hours.
9) Wages of machine operator @ Rs. 6 per day of 8 hours.

(10)  Consumable stores @ Rs. 20 per day of 8 hours.

el fooiear Afedies Tl 99m=n ‘99 99 <0 Fie

~ ¢

(1) 9. fheu=t =&l faa 95,000 .
(2) g fgew TumgugEn w9 15,000 %
(3) . fhew= &= He¥ 10,000 %.

. e sgw e 5 oY

4

4)
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(5)  THWICIE HTHE T 2,000.
(6) TEXE T SR 50%.
(7) I YD AR 10 I gfa T wERET X U ghe 10 T
(8) WU I § AT Wid foeden 4 % WO

(9) I3 TcehrEl TS 8 Al Wi feadren 6 % WHwl
(10) U9 @Ry 8 A= Wid femren 20 % ML

From the following particulars prepare Store Ledger Account under FIFO
method : 10

Date Particulars

1-1-2018 Opening balance 200 kg @ Rs. 20 each
8-1-2018 Issued 100 kg

13-1-2018  Purchased 300 kg @ Rs. 22 each

15-1-2018  Returned from work order 20 kg @ Rs. 20 each
20-1-2018  Purchased 100 kg @ Rs. 25 each

22-1-2018  Issued 100 kg

25-1-2018  Purchased 240 kg @ Rs. 28 each

30-1-2018  Issued 300 kg

There is shortage found 20 kg as on 31st Jan., 2018.

el Alfgd=a SR ‘UgH 3THA Yad fiFa’ a1 Ugde WieR YOSl d9R & .
foien qqTA
1-1-2018 IRYT wWhy 200 fRum. 20 % gfa fwom

8-1-2018 e 100 fomam.
P.T.O.
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13-1-2018

15-1-2018

20-1-2018

22-1-2018

25-1-2018

30-1-2018

( 8 )
®=Ret 300 fwur. 22 & ufq fan.

Fr faurmered wa 20 TR 20 & wfd o
et 100 feum. 25 5 wfa fom.

e 100 .

TRET 240 fwum. 28 % wfa fem.

fiea 300 T

31-1-2018 & 20 fFmm. =t e fogA o

Or
(fenam)

CZ—208—2019

The following particulars prepare Store Ledger Account by weighted average

price method :

Date

2017

Jan. 1
Jan. 2
Jan. 5
Jan. 7
Jan. 8
Jan. 10
Jan. 12
Jan. 15

Jan. 18

Particulars Quantity
(units)

Opening stock 1,000
Purchases 900
Issues 1,200
Purchases 800
Purchases 300
Issues 400
Issues 600
Purchases 200
Issues 600
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Rate
(per unit)
®)
5.00

6.00

6.20

6.40

6.50
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TS

@il Alfgdioed 9YRid 98 (H189) 9gdid 9eR 99s] o@l darf hd

feien quyitet T feraa
(THh) (wfq =)
2017 ®
M. 1 g&adal @hY 1,000 5.00
M. 2 B 900 6.00
M. 5 IEUEE] 1,200 —
WM. 7 TRET 800 6.20
M. 8 TRET 300 6.40
WM. 10 IEUEE] 400 —
M. 12 IEUEE| 600 —
M. 15 TRET 200 6.50
M. 18 IGNEE! 600 —

Standard time allowed for a job is 60 hours. The hourly rate of wage is

Rs. 4 per hour plus a dearness allowance @ Rs. 50 paise per hour worked. 10
The actual time taken by the worker was 48 hours.

Calculate total earning on :

(@) Time rate method

b) Piece rate method

(0 Halsey plan

(d) Rowan’s plan.

P.T.O.
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Teh! HEME FHIUG de3 60 T TUAG STl TgA aeft <X 4 % Ifgs & 50 T
T HEE 9T holedl SIS QUad Il

T[T 9 YU HIOATES! A FB 48 AEEl IR,

A THesshdla 3T &4

(31) FEF R UGl

(%) v & gl

(F) <@ A

() A AL

Or
(feram)

Write notes on :

(@)  Concept of cost

b) Element of cost.

fom fomr .

(31) R Heheo

(9) UfieE= ue.
CZ—208—2019 10
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